."_fb,}ﬁ

;‘ 1%5”‘

r ATH
M@DULE -1/ 33@PT)

CHAPTER 8 :-COMPAIRING QUANTITIES _
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EXAMPLES OF RATIO = |

1. You have geometry box. It contains 20 pen and 7 pencil. Find the ratio pen to pencil

Solution:- According to previous fig
no o en 20
fren 20 _ 90:7
no of pencill 7

This is required ratio we read this ratio 20:7 like as , “ 20 1s to 77, -

Ratio=

2. 5 metre to 1 km
Solution:- this 1s an example to explain the concept “Unit remain same
so we change unit first

1 km =1000 met
So

bJ

Dymet o fhiprel fon S5 e ]
1km {1000 met} 1000 200

Ratio= = 1:200
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LEXAMPLESOFJ
PERCENTAGE

Here there are 2 quantities one is base quantity and another 1s percentile quantity

For example in the above example total marks is base quantity and obtained marks

is percentile quantity.

1 .
-:ote :- We know that % = o when we put sign of % we have to

ultiplied by 100.
1. If you got 240 marks out of 500. tind the percentage.

solution :- Here base quantity is 500 and percentile quantity 240
So,

Percentage =(

240 o o 20 a0 0
——x100)% = ~—% = 48 %.
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Increase/Decrease

Question 1 1s an example of decrease Question 2 is an example of increase

SO

p)

decrease = 5-2 =3 increase = 70 - 50
=320
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Finding increase and decreasing percentage
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In this topic we shall use two studied topic one is ditference and another
percentage.

In these kind of question first we find the difference then percentage. In
percentage basic quantity is initial and percentile quantity is difference.
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Question 1 is an example of decrease
SO,
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Increase(difference ) = 5-2 =3
Here base quantity is 5 and percentile quantity 1s difference 3 so ,

increase % = g X 100 9% = 3—(5)0% = 60%.
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Question 2 1s an example of increase
SO ,
Increase (difference ) = 70-50 = 20

Here base quantity is 50 and percentile quantity is difference 20 so ,
2 2000

increase % = 5—3 X 100 % = ?% = 40%.
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